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®(a+b)2=a2+2ab+b? ®(a-b)2=a?2-2ab+b?
®at+b?2=(a+b)2-2ab ®a2-b2=(a+b)(a-b)
®a+b+c)2=a2+b?+c?2+ 2ab + 2bc + 2ca
®(a-b-c)2=a%2+b?+c?2- 2ab + 2bc - 2ca

® (a + b)?=a?*+ 3a%b + 3ab? + b?

® (a - b)®=a3 - 3a%b + 3ab?2 - b?
eat+b3*=(a+b)(az-ab +b?)
®a?-b?*=(a~-b)(a?+ ab +b?)
e(a+b+c)P=a+b3+c2+3(a+Db)(b+c)(c+a)
® (a + b)* = a* + 4a%b + 6a?b? + 4ab? + b*

® (a - b)* = a* - 4a%b + 6a2b? - 4ab3 + b*
®a‘*-b*=(a-b)(a+b)(az+b?

Prefiks | Symbol | Multiplying Factor

Yotta Y 1000000000000000000000000 = 10%*
Zetta Z 1000000000000000000000 = 102!
Exa E 1000000000000000000 = 10'8
Peta P 1000000000000000 = 10?5
Tera T 1000000000000 = 102

Giga G 1000000000 = 10°

Mega M 1000000 = 10°

Kilo k 1000 = 103

Hecto h 100 = 102

Dega da 10 =10’

Deci d 0.1=10""

Centi c 0.01 =10"%

Milli m 0.001 = 1073

Mikro u 0.000001 = 10°°

Nano n 0.000000001 = 10~°

Piko p 0.000000000001 = 10712
Femto f 0.000000000000001 = 10713
Atto a 0.000000000000000001 = 10718
Zepto z 0.000000000000000000001 = 10~%?
yocto y 0.000000000000000000000001 = 10~%*
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